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Topic:- General Knowledge

1) Name the memorial built to commemorate British Indian Army who died during the first World War: /
7Y 3y g5 & SR gog Wit He arat fafesr uredia 1 & wRor ® fAftfa WiRe &1 A1 Fan:

1. Gateway of India / Tcd 31w sﬁ'{q’[

2. National War Memorial / T@’q & HRD

3. Tawang War Memorial / 917 & TRD

4. India Gate / 3'%'qT tird

Correct Answer :-

o India Gate / 3'%'5” e

2) Name the title of the debut book which earned the 2008 Man Booker Prize for the Indo-Australian writer
Aravind Adiga? /

YRAIg- 3T RraTs dE® rfde T gr1 fafEd 2008 A A9 g REPR Sitaq arell ugelt [Ra@ & Mfde
T ATH FaAT13?

1. Five Point Someone / BT3d Wlsc JHAH

2. The Inheritance of Loss / & 33%'?%9 3T A
3. The God of Small Things / @ TS 3% WId fw
4. The White Tiger / ¢ SBISC CITR

Correct Answer :-

+ The White Tiger / ¢ oBI%C CISTR

3) Who among the following freedom fighters, born in Seoni district of Madhya Pradesh, later went on to become
a Shankaracharya? /

A W F gt ford # o o aral FrrafafEa & @ 919 9 Tdadar 99, SR 9aes o a2
1. Nischalanand Saraswati / fI%cIg TRaal

2. Bharati Theertha Mahaswami / HIRall ?ﬁﬁm

3. Brahmananda Saraswati / ST&llFG TRt

4. Swaroopanand Saraswati / TG BSRSSK|

Correct Answer :-

« Swaroopanand Saraswati / TOREUTFG TR¥Gc!



4) Satyajit Ray’s iconic film ‘Shatranj Ke Khilari’ was based on whose novel? /
Hgeitd ¥ &1 ufafgd feen wrais & feardt feaes Su=amy ur emenfya &t »
1. Ruskin Bond / I&h 9ig

2. Mulk Raj Anand / Jeob ST 3T &

3. R.K. Narayan / 3R.&. AR

4. Munshi Premchand / H‘\’ﬁ PEETH

Correct Answer :-

¢ Munshi Premchand / H-‘Zﬁ 13|'1:|?|_C{

5) Smt. Sumitra Mahajan, the current speaker of Lok Sabha, represents which Parliamentary Constituency of
Madhya Pradesh? /

BT Pt adH reae Hiudt R geoH, vwwen & e gadia Hafe &7 o1 ufafifta s=dt 82
1. Balaghat / STCITHIC

2. Bhopal / HOTd

3. Dewas / AT

4. Indore / SR

Correct Answer :-

e Indore / 37& N

6) India’s Flag Bearer during Opening Ceremony of 2012 London Olympics was .

2012 T SNENP & ICURATIRE P IRAURT P AA YRS 3|
1. Leander Paes / felT&R U9

2. Mary Kom / 9} &1

3. Abhinav Bindra / 31f%a faigT

4. Sushil Kumar / gR0d $UR

Correct Answer :-

« Sushil Kumar / ﬁ_Qi o PHR

7) ‘The Emperor of all Maladies’ which won the 2011 Pulitzer Prize for Non-Fiction was based on .

A-FPaRM & fIT 2011 JRIGR REHR St aTdt WP, ¢ TR 316 Sifd Aaster R SmuTiG
It

1. Depression / d-1d

2. HIV- AIDS / Tg3{Tsd! - U89
3. Diabetes / SIS

4. Cancer / ER



Correct Answer :-

« Cancer/ W

8) Rajat Prapat, one of the highest waterfalls in India, is located in which one of the following districts of Madhya
Pradesh? /

YR § Hod $9 TR A | T ¥o1d yuTe, 7ol uem & FafafRa A 4 fra R d fRa 32
1. Shivpuri / Rragd

2. Balaghat / dTcITHIC

3. Jabalpur / STEEYR

4. Hoshangabad / BIRITTETG

Correct Answer :-

. Hoshangabad/é TATIETG

9) As per Census 2011, which one of the following districts of Madhya Pradesh has registered the highest growth
in population? /

SITOMT 2011 & AR, A USRI & Frfafad o & fra fora &t snard) & a9 warer i oot #1718 82
1. Bhopal/'l-h'tﬂﬁ
2. Sagar / g

3. Jabalpur / SI§CTYR
4. Indore / 375 N

Correct Answer :-

e Indore/ 335 N

10) The annual Rath Yatra at Puri is celebrated honoring which deity? /
T8 A aiftfer vy g g1 foh Saar &1 Jwmfea fear s 82

1. Lord Brahma / HITdT &

2. Lord Shiva / HTdTH fRid

3. Lord Vishnu / HITaT faw]

4. Lord Jagannath / HITdTH SITTATY

Correct Answer :-

 Lord Jagannath / HITdT- SIITATY

11) The Jama Masjid, supposed to be the only mosque to contain Urdu & Sanskrit scripts, is located in which one
of the following places of Madhya Pradesh? /

Ay wew F Frafifed # @ iy ®m or o afie fa 7, O 3¢ ik Wpa faft v arelt v
TfeTE AT ATaT 82

1. Bhopal / e



2. Alirajpur / Gi?ﬁTlTrl'ER
3. Hoshangabad/é TATIETG
4. Burhanpur / §R8ITYR

Correct Answer :-

« Burhanpur / gReHYR

12) The timeless Indian novel ‘Devdas’ was written by: /

MY U SUA “Saere e grr forar o
1. Rabindranath Tagore / ey SR

2. Bankimchandra Chatter;ji / CIE2 BT il

3. Mirza Ghalib / i mfera

4. Sarat Chandra Chattopadhyay / RRd E@mﬂm

Correct Answer :-

« Sarat Chandra Chattopadhyay / TRd % ag'lq 221p)

13) The highest Gallantry award for Indian Military personnel is called the ./
YR AHfa FRUTgaEIRT TR S Ferwm gl

1. Shaurya Chakra / NI

2. Ashok Chakra / 3{=1& dh

3. Kirti Chakra / 1fcl <ish

4. Param Vir Chakra / TRUAR T

Correct Answer :-

« Param Vir Chakra / URHAR Ih

14) Who among the following are the beneficiaries of ‘Mukhyamantri Kaushalya Yojana’ of Madhya Pradesh
Government? /

Y YT AT B "G Sieredr T & arurdf Fafafaa 7 9 s 82
1. Rural youth / UTHTOT gaT

2. School children / ¥Hd & I

3. Farmers / fanam

4. Women / Hfgamy

Correct Answer :-

« Women / Il'%?lTﬁ

15) CANCELLED



‘Kanch Mandir’, made of only glass and mirrors, is situated in which one of the following states of Madhya
Pradesh? /

g #ieR, St baw s 3R Ui @ 1 ], wem wew & Frufif@a # & frw weu & fRua 22
1. Orccha / 3BT

2. Gwalior / TTIeRIR

3. Ujjain / IS

4. Indore / SGR

Correct Answer :-

o Indore/ _5:_@?

16) India's immortal poet & dramatist Kalidas belonged to which one of the following places of Madhya Pradesh?
/

HRA & 3R B Td ACPHR UG AT $ FHafiaf@a RATH A wgi 4 &2
1. Sagar / 9ITR

2. Gwalior / TaTfeIIR

3. Rewa / JidT

4. Ujjain / S

Correct Answer :-

« Ujjain /IS

Topic:- General Hindi

1) fa-Srrf @ s e A are?
1. GRAT
2. foRmT
3. R
4. farm

Correct Answer :-

2) TN - & forg et Wiy fase =1 9wl
1. AT
2.“€F[+?Iﬁ1T
3.1413[+Zh1'[
4.141'13[+‘CI3PT

Correct Answer :-

o« AR



3) Aol - IS FU FE A A P ATR?
1. e

2. Fiod

3. ISl

4. QIS

Correct Answer :-

4) IR R AT - geTak &1 f g fRra A3 Haare 2
1. 3 & =f| g

2. 1Y H HOR T Dl

3. 94 4P ST

4. Sgd YA g

Correct Answer :-

. 3% B RGBT

5) YU - & fore w8t %fd fasde &t gl
1. Yc+HY

2. Y+H™

3.1S|'c[+IIVW

4. YS+HH

Correct Answer :-

6) TSl BT gY TTE M1 - GeTar &1 3f g Rpe A A pwr @2
1. S0 D1 TG 3T

2. W fqufay Ut =

3. YA fqufy & faer

4. YO faufy § g

Correct Answer :-

. Yo fqufy § e

7) TSI & T Tt yafgard are =gl 31 ufda &t gl

1. 3G, T, H

2. {TYHT, T, ITH



3. 3NFHM, TFHE, AH
4. TGHM, 7H, SH

Correct Answer :-

8) URer ® A9 # A P4 a1 9u 32
1. HFHYRY TN

2. T U

3. IGBY T

4. 3{TUTYTd THTY

Correct Answer :-

. PHYRYT FAT

9) fyfaaR frargen fayr F A w I FA A A FT IR
1. 3y fayrT

2. 3TYTIAIT

3. fom foamn

4. AN

Correct Answer :-

. 3fy fayry

10) ‘pgapwe § U d Ao T e B2
1. FHYRY FHN

2, T qUN

3. AN T

4. 3{YTHTT THTY

Correct Answer :-

. PUYRY I

11) IUAT Bt JEHTGT I TR B AT AAHR T 82
1. ffa=afad

2. ¥UH

3. ST A B T8I

4. Iied

Correct Answer :-

. I



12) < ITTT AT U A I P A2
1. &
2. 31
3. 3MYR
4, A&

Correct Answer :-

. gy

13) A &1 U8 T &4 7 Urf SmT|

Rt s wift 715, 9@ R unT1 - 3 R A @ B 91 s 82
1. Yifqa= bR

2. TR SAPR

3. Tcg ADR

4, TG HADR

Correct Answer :-

14) BTBTPR g3 hed HY HidH a9 8ld A TR

gufTidaRR v W aR IR T geT | - AP A A FA I
1. 3GYA XY

2. RO XY

3. R

4. YT X

Correct Answer :-

o HAHDH Y

Topic:- General English

1) Choose the correct form of tense for the given sentence:

According to researchers, our sleep time over the past century by about 20 percent.
1. is reducing

2. was being reduced

3. has reduced

4. will reduced

Correct Answer :-



« has reduced

2) Choose the most suitable determiner for the given sentence:

Is there _ letter for me in the bunch of letters you are holding?
1. each

2. every

3. either

4. any

Correct Answer :-

3) Choose appropriate conjunctions for the given sentence:

Ramesh would sometimes come over ___ stay withus __ he liked our company.
1. but, yet

2. and, because

3. as long as, as

4. after, for

Correct Answer :-

« and, because

4) Choose the option that best transforms the sentence into its other voice:
The little girl showed the visitor her drawing.

1. The little girl was shown her drawing by the visitor.

2. The visitor is being shown her drawing by the little girl.

3. The visitor was shown her drawing by the little girl.

4. The visitor is shown her drawing by the little girl.

Correct Answer :-

« The visitor was shown her drawing by the little girl.

5) Choose appropriate articles for the given sentence:

Isaw ___ accident this afternoon where___ bus had crashed into ___tree.
1. a, a, the

2. a, the, an

3.an,a,a

4. an, an, the

Correct Answer :-



6) Spot the error in the given sentence:

The young boy broken the window by hitting it with a cricket ball.
1. by hitting it

2. with a cricket ball.

3. The young boy

4. broken the window

Correct Answer :-

« broken the window

7) Choose the option that is closest in meaning to the highlighted word in the given sentence:
It was obvious that she wanted to do something special in her life.

1. unknown

2. apparent

3. unsure

4. obsolete

Correct Answer :-

« apparent

8) Choose the option that is appropriate to fill in the blanks in the given sentence:
The CEO has to funds for the _ of the employees in the company.

1. allocating, benefitting

2. allocates, benefits

3. allocate, benefit

4. allocation, beneficial

Correct Answer :-

« allocate, benefit

9) Choose the option that correctly spells the words to be filled in the given sentence:
Hewas ___ for the post but his handwriting was

1. iligible, illegible

2. eligible, ilegible

3. eligible, illegible

4. eligibel, illegible

Correct Answer :-



« eligible, illegible

10) Choose the option that best completes the sentence:
Anil is any other boy in the class.

1. gooder than

2. a better than

3. best

4. better than

Correct Answer :-

« better than

11) Choose the option that best transforms the sentence into its other voice:
The Smiths celebrated Christmas this year.

1. This year, Christmas was celebrated by the Smiths.

2. This year, the Smiths celebrated Christmas.

3. This year was celebrated Christmas by Smiths

4. Christmas by the Smiths was celebrated.

Correct Answer :-

« This year, Christmas was celebrated by the Smiths.

12) Choose the appropriate prepositions for the given sentence:
After playing ___ the beach, the dog its muddy paws came the clean kitchen.

1. on, with, into

2. by, for, with

3. at, on, into

4. at, on, in

Correct Answer :-

« on, with, into

13) Choose the appropriate verb to complete the given sentence.
We seem ____ a problem with the radio.
1. having

2. to having

3. to have

4. have

Correct Answer :-



« to have

14) Choose the correct form of clause for the given sentence:
The students had dinner

1. when they played the whole evening

2. after they had played the whole evening

3. who were hungry

4. that they had after classes

Correct Answer :-
« after they had played the whole evening

Topic:- General Mathematics

1) Cards each marked with one of the numbers 8, 9, 10, ........ ,15 are placed in a box and mixed thoroughly. If one
card is drawn at random, then the probability of getting an odd number is: /

TP 9 § T 4 &, o Ude WR 8,9,10.,......,15 § A T =T 3ifpd §, 3P 3= ag foremar mam afe
qrefRFHdT @ T U FoTaT 9T, @) T fuw e ure 814 &) wildier @

1
1.4

| b

[N

o

4.

Correct Answer :-

2) If the height and radius of a cone of volume ‘V’ are doubled, then the volume of the new cone is: /
e 'v' AT ATA TP P B SHa1s Ta B SR g1 oIt 8, o 71T X &1 ST &

1.6V

2.2V

3.4V

4.8V

Correct Answer :-



3) The radius of a circle in which the length of a chord 16 cm and its distance from the center 6 cm is .
T gt e grf, R ue oftar $t da1s 16 A 9uT ds & 39S g8t 6 AW R

1.10 cm/ 10 Yt

2. 14 cm / 14 9HT

3.8 cm /8 HHT

4.12 cm/ 12 94l

Correct Answer :-

« 10 cm/ 10 9H

4) The line segment joining (-3, 4) and (-3, -4) lies completely in_____ ./
(-3, 4) TG (-3, -4) B! fiam arelt Yares, pf wud . wadt 3l
1. 11 and 11T Quadrants / 11 T4 111 IR

2. Il Quadrant only / &Had 111 ﬂﬂ%ﬁQT

3. I and IV Quadrants / ITI T4 1V Tgufar

4. II Quadrant only / &Had 11 agaﬁ'w

Correct Answer :-

« I and 11T Quadrants / I T4 1T IgUf=T

5) Which of the following is a perfect square? /
fraffaa § o9 e g o @2

1. 5928

2.1062

3. 2401

4. 2457

Correct Answer :-

« 2401

6) Inthe given figure, AB = AC and OB =OC. Find £ABO : £ ACO_ /

few 7T =T &, AB=ACUTGOB=0C & dd92ABO:2ACO=___ |
A

1.1:4

2.1:1

3.1:2

4.2:1



Correct Answer :-

7) The zeroes of the polynomial p(x) = x — 3x is/are: [/
E@Tﬁ: px)=x—-3x & AT %’

1.-3,0

2.0,2

3.3,-3

4.0,3

Correct Answer :-

8) Ifa=4and b=23, thenthe valueofab +b* =7 /
g a=4Tdb=3 §, dga® +b* &I AT =7

1. 127

2.137

3.145

4. 136

Correct Answer :-

o 145

9) ABCD is a thombus with £ABC = 56°. The measure of #ACD is o
ABCD T& gAagsa ¢ forad LABC=56"81 LACD $T A 21

10) 4,63 + 57 — 8,28 =7
1 \."ﬁ
2. _J"\."?

3 V1



=
4. V7

Correct Answer :-

L] \If?

11) The multiplicative inverse of 5% is il
5% FTACTHACHS Tidas__ 8l

1. 1.066

2.0.9375

3.0.1875

4.5.333

Correct Answer :-

« 0.1875

12) 1n APQR. if 2R = 90°, then angles P and Q are i
APQR #. Tfg ,R=90° . @9 FI0T PUGQ gl

1. supplementary / HgIH

2. complementary / b
3. equal / JHIT

4 45°cach { g 450

Correct Answer :-

« complementary / X

1 1
13) 0.343 '/3-‘1-0.008 fa _ 9

1 T =
0.343 -/3—0.003 -/3

~l| |~ o

| b

4.

Correct Answer :-



14) The total surface area of a cuboid is 94 cm? and if its lateral surface area is 54 cm?, then its base
areais: /
T AT &1 el SO aTAhel 94 WAY § T Al et ured g atAhel 54
A2 8, O9 S WUR FT aT5d ¢

L 26em? | 26 JHT
5 20em? / 20
3 40cm? / 40 d’
4 32cm? [ 32 J°

Correct Answer :-

. 20cm? / 20 ¥

Topic:- General Logical Ability

1) The present age of Prachi is five times the age of her son. Five years ago, her age was 25 times the age of her son.
What is Prachi’s present age? /

T B T Y I0F [T I 3T B Ui A1 8 | Ui 99 Ugd, ITBT 31 3P Y DI 3G Bt 25 A7 At
Ut B aFH 3Tg T R

1. 32 years /32 ay
2. 25 years /25 CL
3. 35 years / 35 CL
4. 30 years / 30 Gl

Correct Answer :-

o 30 years/30 CL

2) A and B can separately do a piece of work in 20 and 15 days respectively. They work together for 6 days, after
which B was replaced by C. If the work was finished in next 5 days, then the number of days in which C alone
could do the work will be o

A 3R B TP BRI P 3ET-3RT HHRT: 20 3R 15 Fa & 1 % Thad 81 3 A1 e 6 A1 & forg wrd
FYd &, Forad a1 B 3t ¢ gRT ufaenfia &= fean mar o1 afe srf srmat 5 R & e @Y wan A, <t ¢
3Abd IH BRI B T RT PR qHa1 U

1. 160 days / 160 f&
2. 150 days / 150 f&1
3. 100 days / 100 f&

4.125 days / 125 &

Correct Answer :-

« 100 days / 100 f&1



A sells goods to B at a profit of 20% and B sells it to C at a profit of 25%. If C pays Rs. 325 for it, then what was
the cost price for A? /

A 20% & T TR B P AT 99dT @ 31X B I 25% P ATH UR C B 39d1 81 TS ¢ 3T forg 325 T o1
YA ST 3, At A F T anTa gea @ A

1. Rs. 214.66 / 214.66 U
2. Rs. 213.66 / 213.66 ST
3.Rs. 216.66 / 216.66 ST
4. Rs. 215.66 / 215.66 T

Correct Answer :-

« Rs.216.66 /216.66 30

4) How many such numerals are there in the number 2576489, which will remain at the same position when
arranged in ascending order from left to right? /

@ 2576489 T T fora 3 &, St S IR A grRit 3R RIS oA H afeyd 3 UR I I W @1
1. Four /dR

2. Two / &Y

3. Three / 9

4. One / Udh

Correct Answer :-

o Four/dR

5) In how many different ways can the letters of the word ‘INCREASE’ be arranged? /
Y 'INCREASE' & 3H&RT ®1 fpa-t srent adiep! & afeyd fvan & addr 82

1. 10800

2. 10080

3. 20601

4.20160

Correct Answer :-

« 20160

6) Study the following information carefully and answer the question given below.

Eight persons L, M, N, P, Q, R, S, and T are sitting around a circular table facing the centre. Q is not the
neighbour of P or R. M is second to the left of T and third to the right of P. R is third to the left of N, who is to the
immediate left of T. L is second to the right of P.

Which of the following pairs of persons represents the neighbours of T? /

fFrafafaa Ser @ amyde ue ok - 3T 1T w=A &1 3« Fand|

TS AR L, M, N, P, Q, R, S, 3R T Hg% $I 3R G fHu ¢ ue Ma 3w & 36-A1 93 €1 Q, P 4T R HT USRI
TERIM, TP TRfY 3R G WM R B 3R P & gRiT SR AR M WRFIR, N & TR SR AR AR
WM THSHFACRI L, PP Rt SR g R”IM R I

fFrafafEa & @ $i9 91 ST 1 TSRl # eufar g2



1.NQ
2. MN
3.QS
4. RP

Correct Answer :-

. NQ

7) Radha secures 90% marks in Hindi paper. If the maximum marks in the paper is 200, then find the marks
secured by her in the paper. /

YT A & & 9y 9= & 902 3ih Ured fpu | afe uy vz & Srifredd 3ie 200 €, 9 UY U & SH gRT UTd fpu
T 3] Y JATd B

1. 180 marks / 180 3{®
2. 170 marks / 170 3i&
3. 160 marks / 160 3{&
4. 185 marks / 185 3

Correct Answer :-

« 180 marks / 180 3{®

8) A dice is thrown. What is the probability of getting a number not greater than 5? /

TS U1 HpT SITdT € | 371 UTfehdT @ o ure wem 5 9 aiftres =7 gl

| | o~ L | o

—1 | Ln

4.

Correct Answer :-

9) One quality of wheat at Rs. 9.30 per kg is mixed with another quality of a certain rate in the ratio 8:7
respectively. If the mixture so formed be worth Rs.10 per kg, then what is the rate per kg of the second quality of
wheat? /

9.30 ¥4 yfdl foral arat g 9t tar fvw &1 vop ffda gog ara gast fow & Ag & |1y 5= 8:7 & SquTd
gﬁmwél gfe fftfa frsror 1 4w 10 T0 ufa fpe B, a9t A & gt fore o1 wfa feahm gea &

1. Rs. 7.80 / 7.80 SUY



2. Rs. 10.80 / 10.80 T
3. Rs. 8.80 / 8.80 BT
4. Rs.9.80/9.80 SUY

Correct Answer :-

« Rs.10.80/10.80 STY

10) The average expenditure of a man for the first five months of a year is Rs.4000 and for the next seven months,
it is Rs.5400. He saves Rs.2300 during the year. His average monthly income is .

U a9 & Ugd Ui HElHI # UP Ufad BT 3T Y 4000 FYY g, 3NR 3RTH HId HEIH1 & 1T 5400 U g1 96
P AR 98 2300 YA B gd HRAT g | ISP N AP 3 B

1. Rs. 5006.33 / 5006.33 ¥T
2. Rs. 5004.33 / 5004.33 ¥
3. Rs. 5008.33 / 5008.33 ¥UY
4. Rs. 5005.33 / 5005.33 ST

Correct Answer :-

« Rs. 5008.33 /5008.33 T

11) The cost of manufacture of an article is made up of materials, labour and other expenses in the ratio 5:6:1
respectively. If the cost of material is Rs. 45, then find the cost of the article. /

TS a3g & Aator &1 arra el 90 iR o @t & faTe? HuRn: SruTd 5:6:1 9 9+ 81 afe wnnht #
AT 45 3T B, oY 9 F} @17 F1d BHQ|

1.Rs. 120/ 120 3T
2. Rs. 108 / 108 ¥TT
3. Rs. 105/ 105 30

4.Rs. 110/ 110 3T

Correct Answer :-

« Rs. 108/108 3UT

12) If Ashok travels at a speed of 70 km/hr and covers a distance in 8 hours, then how much time will he take to
travel the same distance at a speed of 80 km/hr? /

gfe =it 70 fil/der &) ara A AT T @ 3N gl 31 8 5 | a9 Har &, af 8o fwft/eier o) are @ 3t
T B R B | a8 fam g9 am?

1. 7 hours / 7 G
2. 6 hours / 6 ©¢
3. 8 hours / 8 §¢
4.9 hours /9 ¢

Correct Answer :-

« 7 hours /7 °¢



13) In a certain code, DESIRABLE is written as JTFEQFMCB. How is DIMENSION written in that code? /

% fAf¥d $1s &, DESIRABLE &1 JTFEQFMCB ¥ 37U ¥ for@T STd1 8 | 9 B8 # DIMENSION &1 $3
ferar smem?

1. FNJEOOPJT
2. FNJEMOPJT
3. ENJFMOPIT
4. FNEJTMJPO

Correct Answer :-

« FNJEMOPJT

14) In a certain code, NAID is written as %#*$ and NIPE is written as %*@®©. How is DEAN written in that
code? /

TS Af3d P18 & NAID B %#+$ P 7Y A 3R NIPE B %*@0 b ¥ H foram oirar 81 @ 59 B8 § DEAN
P 4 forar smem?

1. @HO%

2. $©#%

3. S@%#

4. @$H*

Correct Answer :-

+ $O#%

Topic:- General Science

1) An element “X” has a Z value equal to 17 and mass number equal to 37. What is the number of neutrons
present in its nucleus? /

TP ad “X” T 17 F RMER Z BT UM ¢ 3R FSqUH &1 37 & RIER 31 39 A0S H Sufeud gl ot
=T 4T It

1. 37
2.54
3.17
4.20

Correct Answer :-

« 20

2) Choose the correct method which can be used to decompose water into its constituent elements. /

gt faftr gfe RRreT ST o1a @) 9% Wues adl | faufed w1 & fog frar st awar g1
1. Sublimation / 3T



2. Fractional distillation / 3R 3Ed
3. Electrolysis / f{dggd 3raecH
4, Distillation / 3{THd-

Correct Answer :-

« Electrolysis / [dggd 3fqac

3) Which of the following isotopes is used in the treatment of cancer? /

frafafaa # O g gaRife 1 7O $IR & SUIR | f5ar ST 82

| e

&0

27Co

11
zC

235
52U
4.

Correct Answer :-
&0
27C0

4) The cluster of cells that is similar in structure and performs the same function constitute a/an____ ./
PRSI BT e Wl WM A TN S IR TP PAE AT B g el

1. organ / ko

2. organ system / 37T d=d

3. tissue / Hddh

4. organism / Sita

Correct Answer :-

o tissue / Hddh

5) The pitch of the sound is related to: /
w31 e fra & wefia @

1. Frequency / 3ﬂ§ﬁ[

2. Intensity / GIEG

3. Amplitude / 3TIH

4. Loudness / Udddl

Correct Answer :-

« Frequency / 3ﬂ§ﬁ[



A bus travelling at a speed of 54 km/h speeds up to 72 km/h in 5 seconds. Calculate the acceleration of the bus. /
54 fopdfl/deT oY 916 U= 911 1 ¥81 U 99 5 WS A 72 fdl/der 9% ara oY Serel 8 | 99 & @Rl B T
Ead

1, 15 m/s?/ 15 Hifa2

2. 18 m /s / 18 HT/&2

3 lm/s? /1 i

4. 20 m/s?/ 20 Hif&

Correct Answer :-

. lm/s? /1 #Ry?

7) High blood pressure is an example of: /

S YFqATY 9 BT TP IETeR0I 3

1. Contagious disease / 9d D1 dART

2. Non-infectious discase / SHhTHD SHRI

3. Infectious disease / HhTHD SHR]

4. Sexually transmitted disease / T Yepfid SHRT

Correct Answer :-

« Non-infectious disease / 3HHTH® SHRT

8) We slip while walking on a path having pond scum or green algae because: /

ATATS $I TG AT 5T 9T AT TY TR T GHY 59 et wTd § i

1. Of the inertia of motion / SIScd P T & HRUT|

2. The friction is zero / TYUT RIg _E?f SITdT % |

3. The friction between the feet and the path is increased / T 3R gy & &t gy CERSIGH %I

4. The friction between the feet and the path is reduced / ﬁ? \’rﬁT Y& &g ‘J‘S‘:UT DH Epf STl % |

Correct Answer :-

 The friction between the feet and the path is reduced / W 3R UY & oI 9901 7 a STl % |

9) A weight lifter holds a body of 100 kg on his shoulders for two minutes. The work done by him is: /

TP URINIA® 3 fiFe & fore o sl R 100 framm &Y avg I3Tar 81 39 gRT fhar mar o1 2:
1. Zero / [

2.1000 ]

3.101]

4.1]

Correct Answer :-



10) The value of universal gravitational constant ‘G’ is: /
WIS Tyl fRRIE «¢° STAF AT 8:
1 6.6734x10 1 Nmkg

2 6.6734x10° Nm kg?

3, 6.6734x10 N mkg

4 6.6734x10! N m?kg

Correct Answer :-
6.6734x10-1I N mzkg'—"‘

11) Which of the following pollutants causes water pollution ? /
Frafafaa ugue! & J 9 T1 9d UguUT HT HRUT §74d71 8 2
1. CFCs / HTUtT

2. Washed out pesticides and fertilizers used in farming /

F B Ugad BIeARID! R IR BT T2 §3HT UFT
3. Gases released by vehicular traffic / dIdIUTd qrel gRI Had eS|
4. Smog / 4Y

Correct Answer :-

» Washed out pesticides and fertilizers used in farming /
B T UYHI BICIRID] R Iahb! BT g2 3 HI
12) CANCELLED
The outermost covering of the plant cell is constituted by: /
UTGU HIRIPT HT STEIAH AR §HY T1 il &
1. Cellulose / @ﬂ?ﬁﬂ
2. Lignin / fafi=
3. Chitin / T3
4, Glycocalyx / ‘?ﬂ%ﬁw

Correct Answer :-

« Cellulose / I

13) Prokaryotes are included under the Kingdom of .
Weiaifes A & SieR Afwfa 7
1. Protista / mfezer



2. Plantae / WATC
3. Fungi / dhdd
4. Monera / =T

Correct Answer :-

o Monera / HERT

14) Convert 25°C to Kelvin scale. /
25°C I hfeas damr # aRafda &1
1. 298K
2.273K
3. 298°C
a. 273eC
Correct Answer :-

« 298K

Topic:- General Computer

1) To switch between two or more documents in MS word, we should access the: /

THTY 73 # Q) a1 3 A Siftre STagie & v f&g &1 & fore, &9 A &1 swawra s afee:
1. View tab / &‘]\%a

2. Layout tab / SEIRERE]

3. Design tab /%Trﬂg_"f g

4. Review tab / ﬂaﬁa

Correct Answer :-

. View tab/ & cq

2) Among the following which of the bar is not present in the MS Word 2010? /
THT g8 2010 ¥, F=ffaa o @ #1991 R Mg T8l gar 82

1. Scroll bar / h1d IR

2. Menu bar / ﬁqaw

3. Tool bar / &1 AR

4, Page bar / U9 SR

Correct Answer :-

« Page bar/ PEKIR

3) When a group of computers and devices are connected together, it is called



o HHYCRT SR ITPN S (P A US AU IS TS, ANFH_ PgI gl
1. Network / -lcdd

2. CPU / TiURg

3. Branch / §IT9

4. Modem / HISH

Correct Answer :-

e Network / ERGET

4) What kind of program is MS Word application? /
THUH 98 T $ R 5 UHR 71 U 52

1. Word Prompter / Js UrmeR

2. Word Processor / 8 UK

3. Word Art / T8 3¢

4. Mainframe Processor / A% H YRR

Correct Answer :-

« Word Processor / 98 TR

5) What is the blinking line appear when you open a MS Word document? /

19 31U U THTN 98 SIagHe 31U+ #Xd g df fae arelt fifdh s = gt 32
1. Cursor / HIR

2. Arrow key / TRI @1

3. End key / U8 P

4. Home key / B ®1

Correct Answer :-

« Cursor / IR

6) The coding language used to create documents for use on the world wide web is: /
IS a13S 349 IR STIATH o Siagie & FAHior & forg vy SIfET uro A &:
1. HSMT

2. HLMT

3. None of the above / G'qgaﬂ =k ﬁ%‘ '_‘@T

4. HTML

Correct Answer :-

- HTML

7) In MS Excel 2007, which among the following is called upon to help you solve the problems? /



THTH T 2007 H, FFaferfad # & {5 siust THwansil &1 ga 3 # Heg & forg w1 oI g2
1. Mathematical Library / yAfehd ?ﬂgaﬂ

2. Logical Library / SISEDS] rﬂs@f[

3. Function Library / R Fﬂsa'\ﬁ

4, Scientific Library / mgm f'ﬂgaﬁ

Correct Answer :-

» Function Library / R ?«nséfr

8) In MS Excel 2007, if you click the button, the spreadsheet will be outlined automatically. /
THUY U@ 2007 §, afE 3y 9eq WR fFae & & o Dsefie 3rua 3y 33ears gt sirdl 31
1. Auto Inline / 3fTeY ERNIER]

2. Auto Outline / 3Tel TR

3. Inline / SR

4. Outline / AHT3CdIgT

Correct Answer :-

« Auto Outline/\’ﬂﬁ 313 cdlg-

9) In MS Word 2010, How many types of ‘Page Borders’ are present? /
THTY g 2010 A, frde TR & U I183 SUFRIE 8ld 82

1.4

2.3

3.6

4.5

Correct Answer :-

10) In MS word 2010, shortcut key to print preview is: /
THTH 98 2010 ¥, fife fireg ¥ fere =iideme ot 8:

1. Ctrl+Alt+I

2. Ctrl+Alt+L

3. Ctrl+Shift+I

4. Alt+Shift+L

Correct Answer :-

o Ctrl+Alt+I

11) In MS Excel 2007, is an Excel feature that lets you filter out rows from a data table. /



THTH TR 2007 T, TS THd WIR 2 S 3! T ST 39 A 3i13e 3 &t fibeer w1 &t 71
1. AutoFilter / 3fciftheex

2. SystemFilter / RI&Ah e

3. ManualFilter / Ag3(@ftheex

4. DataFilter / SCIftheex

Correct Answer :-

« AutoFilter / 3fTeIftheex

12) In MS Excel 2010, to insert a comment option we have to click the ./
TR 2010 ¥, TP FAC ATRFEAC AP U gd R fe s g gl
1. View tab / al%a

2. Design tab AESIES] oS

3. Formula tab /Wﬂi?ﬂ T

4. Review tab / ﬁq%ﬁ

Correct Answer :-

« Review tab / ﬁaﬁa

13) CANCELLED

In MS Word 2010, sheet has its length and breadth as 8.27 x 11.69 cm. /
THEY 98 2010 7, e F} Fars 3R NSTS 8.27 x 11.69 AN B

1. A6

2. AS

3. A4

4. A3

Correct Answer :-

14) CANCELLED

In MS Excel 2010, the shortcut key to enter the current date is: /
THUH T H, Id9 1S 3 g o & g wicde 3 6:
1. Ctrl+;

2. Ctrl+:

3. Ctrl+:

4, Alt+:

5. Alt+:



6. Alt+;

7. Alt+;

Correct Answer :-

o Ctrl+;

Topic:- Civil Engineering

1) A type of door to be provided where width of opening is large and hinged and shutter is not required is called as
.

EXATS $1 98 YHR R 51 v Siran 8, 5igi fagfa ot e oifte au1 FeagR &, aut o 2rex #1
Tazadar T8l gl 8, ENIGIE

1. collapsing door / DHIARAT SR
2. glazed door / TS SR

3. braced door / ST SR

4. flush door / TRIRI SR

Correct Answer :-

« collapsing door / DA SR

2) Reverse curve is a type of: /
yfaeH I FEA ST @ 1oR 3
1. Vertical curve / Sadd dsh

2. Horizontal Curve / &fciol ash

3. Sag curve / HG dsb

4. Summit curve / PILNECED

Correct Answer :-

« Horizontal Curve / aﬁ\_ﬂ doh

3) Decrease in per capita consumption of water is observed in the ./
ufdafF sy A s erdeor A fparsmargl

1. hotter climate / Tlﬁ\_rl?‘l?ﬂg

2. good quality water / 33 TUTd T T SIct

3. modern living / GHWWT

4. metering system / el gomet

Correct Answer :-

« metering system / Hiefa yoret

4) A cube of concrete in comparison to a cylinder of concrete is expected to give compressive strength o



PPIC & de DI JA-IT A Hepic g1 A Hdts qraA faer sféra 31
1.lessby 15 %/ 15 % A HH

2. less by 5% / 5% A HH

3. more by 5% / 5% 9 HfdH

4. more by 15% / 15% 3 3{f®

Correct Answer :-

« more by 15% / 15% q 3{fd&H

5) A grid obtained by drawing a series of equipotential lines and stream lines is called .

Uiy YErsi aut yRR@rei &1 vft Sl T A ra elt | Fgan! 3|
1. equipotential net / FHAHT STci!

2. stream net / 1A A

3. flow net / FaTg STait

4. viscosity potential function / Y] faya wem

Correct Answer :-

« flow net / UdTg SITcl

6) s the Indian standard code of practice which deals with general construction of steel structures. /
P @ YR g wfgar @ o Wha B w@eeAnsi & g fafmior w ang g 21

1. IS : 456

2.1S: 875

3.1S: 1893

4.1S : 800 (2007)

Correct Answer :-

. IS : 800 (2007)

7) is the apparatus in which turbidity is measured as a function of intensity of light scattered as it
passes through the water sample. /

U T SUPBRYT @ o SR g¢ vt 1 digdr & haRM & U H AAU &1 9197 ST @ o9 98
e T A g [eRaT 7l

1. Barometer / SRIHIER

2. Tintometer / f¢@HIER

3. Colorimeter / JUTATTY

4. Nephelometer / AHaAHeR

Correct Answer :-

o Nephelometer / THAHeR



8) is a passage for water over a natural ground having a deck slab over it as path way for vehicles. /

___ upfae YR 9 & g te ant @ o areel & g vy wrt & S d 0o So wa giar 3|
1. Minor Bridge / @Y Gd

2. Slab Culvert / T gferdT

3. Box Culvert / STe gferan

4. Hume pipe culvert / ggH UleU EI%I'QT

Correct Answer :-

« Slab Culvert / %1 gferdn

9) Field test for determining shear strength of soil is: /

a1 Bt IR Ty (3rReyor grae) I $ $ fore forar oM aren Bies e A @
1. Vane shear test / 3 ]IR ¢¥¢

2. Direct shear test / ST3de YR e

3. Triaxial shear test / CTSUfRI 3 YR ¢

4. UCS test / UCS &

Correct Answer :-

« Vane shear test / 99 2R ¢

10) Concrete is kept moist for a certain period of time after placement and finishing to enhance its strength and
durability. This is called .

Pebic BT RITFUT HIA TUT TP UNTHIUI & T1¢ FAD! AoIge! 9 sHP WATAE H deian] & fore 59 v faa
Ay e el I@T SITaT 8 | T8 Uithan f-1 weard @

1. Curing / FAT
2. Buttressing / aﬁﬁm
3. Nogging / iR
4. Shoring / T

Correct Answer :-

o Curing / FAT

11) According to IS 399-1963, the weight of the timber is to be reckoned at a moisture contentof ./
IS 399-1963 & TR, HTY & T I B 7 Il R AT ST 8

1. 4%

2. 12%

3.8%

4.0

Correct Answer :-



12) Skimming tanks are used for: /

fenfi o o1 SuaT foe & forg faman s &:

1. Removing large-sized materials / YR STHR aTci! A &1 gl
2. Removing oils and greases / ddl aur U & gerH|

3. Removing sand and grits / iﬁamﬁ@ml

4, Removing dissolved solids / faafed ol @l gern

Correct Answer :-

« Removing oils and greases / qdl adr U & gerH |

13) Pitot - tube is used for measurement of : /

UTgce-ogd $T IUANT fA & |19+ & fore farar siman 8:
1. discharge / TEIROT

2. pressure / &Il

3. flow / JaT8

4. velocity at a point / Te foig TR 7T

Correct Answer :-

« velocity at a point / Tdh ﬁg R

14) A partially saturated soil contains: /

i1 ¥U A T gar § A= gar @

1. Solids and air only / HId 3 wd arg

2. Solids, air, water and clay only / FHad aﬁ?r, dary, ofed oq [ECl &@Qf
3. Solids and water only / HId 3 T4 ol

4. Solids, air and water only / Had ?ﬁﬂ, arg Td o

Correct Answer :-

« Solids, air and water only / FHad aﬁr, ag g o

15) Shape tests on aggregate are done by using: /

ST (@HIe) W TSR THaT e F STahT R g oird &
1. Length gauge and thickness gauge / UK TS IREEREIE]

2. Sieves / T (ﬁla')

3. Penetration test device / aﬁéf-ﬂ:f oXc fearsy

4. Universal testing machine / qﬁaﬁa cR&ETH=iA

Correct Answer :-



o Length gauge and thickness gauge / WY TS U8 f¥h9 IS

16) Rate per unit item of work =/
&Td B! U $PTE G & =

Total Quntity thef {117
Total labour hel HAH

Total cost 1’_(‘”; alc
5 Total labour Ev_{vl'w
Total cost 1“_‘"‘-6 dl¢
3 Total quantity Ev_{vl'E 2

Total Quntity f thel 1R
Total cost ?;_(vr{_vl'l?lﬂ'

Correct Answer :-

Total cost thel elldlc
Total quantity el {112

17) Run-off can be described as part of the water cycle that: /

3UGTE B e TP & IH W & ¥ § uRHIfa far o wevar g ot
1. Is absorbed into the ground / ‘-jﬁfﬁ NICRIING] aﬂT%

2. Is discarded / G<IAT E\}ﬂ@?ﬂ g

3. Evaporates / amﬁ% 1K
4. Flows over land as surface water / g8 S1d & 0 H 3;[&[ TR yared gidl %

Correct Answer :-

« Flows over land as surface water / ¥dg SIc] F =0 H 'ﬁ[&l W EIHT%H Eﬂ?ﬂ %

18) Hydration of cement is a/an action, which produces a large quantity of heat. /

e wToaae s fopar e, S | A o ST &1 Idred Sl 8l
1. heat evolution / 31T fad T

2. endothermic / S EATRIYT

3. exothermic / SEATET

4. all of the above / JURTGT T

Correct Answer :-

» exothermic / Wéﬂtﬂ

19) When drainage is permitted throughout the triaxial test, it is known as: /

WE 319 W eTsuiRerd eve frar oimar 8, Y 39 e & w0 o ST wra |



1. UC Test/ UC T&
2. CU test/ CU C&
3. UU test / UU ¢
4. CD test/ CD ¥

Correct Answer :-

« CD test/CD ¢

20) What is the usual pH of fresh sewage? /
I WA T W pH FT BT 32

1. More than 7/ 7 ¥ 3%

2. Zero / [

3. Equal to 7/7 % SRR

4. Lessthan7/7 4 HH

Correct Answer :-

« More than 7 /7 ¥ 3{f¥e

21) In flexible pavement analysis, it is assumed that the load transferred through layers by : /

%quguﬁnﬁwmﬁmﬁaﬁ?wﬁrﬁmﬁ,wmm%%mﬁﬁmﬁﬂ%mm
SIGIGH

1. Load stresses are absorbed in the top layer / s @AF, o A H sra=ifva _@a %

2. Grain to grain transfer through points of contact / Tudh ﬁ’g{ & HTEH I I [ pE| TRIBR
3. Beam action / 19 TR

4. Slab action / ﬁ—dw

Correct Answer :-

« Grain to grain transfer through points of contact / BSG ﬁg & TEd I U9 ) DRl W

22) Lead Poisoning occurs when the lead content in water exceeds ./
o ffurafiern qa gl e @ A i araad 9 it gl 3|
1. 0.5 ppm

2. 0.05 ppm

3.0.15 ppm

4. 0.1 ppm

Correct Answer :-

« 0.05 ppm

23) As per 1S962-1989, the minimum space between parallel lines including hatching is: /



1S962-1989 & AR, HHMETAR YQT13fl & 19 3w Afga =Aaw o5 gihft:
1. Not less than 0.7mm / 0.7mm @W:lgjf

2. Not less than 10mm /10mm A HH T‘|€f

3. Less than 0.7mm / 0.7mm ¥ &Y

4. Less than 10mm /10mm ¥ &H

Correct Answer :-

¢ Not less than 0.7mm / 0.7mm @W:I_Eﬁ

24) As per IS 456:2000, the assumed standard deviation for M25 grade of concrete is: /
IS 456:2000 ¥ AR, Fle I M25 A F fT wicra wHe faga @sgrs Wss sfawem) A= 3:
1. 4 N/mm?

2. 2.3 N/mm~

25) If Q is the total quantity of water required by a town per year in litres, and P is the population of the town,
then the per capita demand of water will be: /

Tfe Q TP e gRI diex # ufa af smazas urit &1 ot 7 8 3R WeR ot 3mard! p g, a Ul 3t ufa safaa

2Q
. Px270

2Q
5. Px365

Q
3. Px365

Q
4. Px270

Correct Answer :-

26) If the intercept on verticle staff is observed as 1.5m from a tacheometer, the horizontal distance between the
tacheometer and staff station is ./

%@@mfwgswmeraﬁ%ﬁfmmﬁ1.5%%@161@%,3?%%@%@?@3%@%%%
|

1.75m /75 die?



2. 150m / 150 iR
3.115m / 115 Hiex
4.300m / 300 Hie’

Correct Answer :-

« 150m /150 Hiex

27) One degree of hardness is equivalent to ./

FORATHITH N FwRER eI
1. 1425 mg/litre / 1425 ﬁ?ﬁ'ﬂmﬁ’ﬁa

2. 14.25 mg/litre / 14.25 THQTH/eMeR

3. 142.5 mg/litre / 142.5 THAUM/ /e

4. 1.425 mg/litre / 1.425 ﬁ?ﬂum/aﬂa

Correct Answer :-

. 14.25 mg/litre / 14.25 TOeiRmA/dle?

28) One nauticle mile is equalto ./
TP g fia F W 3I
1.1.687 km / 1.687 fastit

2. 1.712 km / 1.712 fobeft

3.1.512 km / 1.512 foouit

4.1.852 km / 1.852 T el

Correct Answer :-

. 1.852km /1.852 fosHt

29) Paint film becomes powder due to: /

e frer 31 UISST 711 $T SR 3:

1. Bad workmanship / FRITR BT BRI HTH Eﬁ:ﬂ

2. Wrong choice of paint / U< &1 UG ITad BIHT

3. Insufficient oil in the primer / UISHY | &mflﬂ aﬁ Eﬁ:IT
4. Moisture / 4T BT

Correct Answer :-

« Insufficient oil in the primer / UTSHR T g dd 814

30) Workability of concrete can be found out by: /

Heple I P11 = & FRI 1d ) o1 TPt B:
1. Slump test only/aﬁﬁw‘qéﬁ



2. All of the above / SURTeRT gHt
3. Vee — bee Consistometer test only / FHad dl-§ HRRCHICR T
4, Compaction factor test only / HId PR haex &

Correct Answer :-

« All of the above / SURTad Ht

31) Which of the following is an unmetalled road? /
faffeadd s AR e s aso o2

1. Cement concrete roads only / Had YT HebIc B qgbh
2. Earthen roads only / &Had ﬁ@af Gl m

3. All of the above/ JTRIaRT TH

4. Bituminous roads only / HId STHR (ﬁ'cﬁﬁﬂ) P m

Correct Answer :-

« Earthen roads only / &Had &@Qf P ASDH

32) Which of the following statements is TRUE for the purpose of estimation?

i. To fix up a probable data of completion on the basis of quantities of works to be done.
ii. To evaluate the cost benefit ratio and economic viability of the project/work.

iii. Estimate for existing property is required for assessing the valuation of it.

THad & I & forg Ffif@a A A P I T I 32

i. fPU oA arat 1ot &Y TfRkwE & sruR uR gular ST HHIfad STeT duR ST
ii. IRAYSHT / ST BT ARG A1 AT a7 fawiia saagriar &1 geaio st
iii. 3P YU & e P ¢ Hic[er WUy & b+t @1 smazasddr gl gl

1. iii only / Pad iii

2.ionly /$had i

3. ii only / Had ii

4. All of the above / IURTad It

Correct Answer :-

« All of the above / STRIGT Tt

33) Which one of the following is not a method of tunneling in running ground? /
Frufafeaa o @ o w1 =T ukss | geE 3t fafy =8t 32

1. Top heading and benching / T %‘%‘T Td off

2. Needle beam / ITSd S

3. Flying arch / GRS 3T

4. Liner plate / AR wie

Correct Answer :-

« Top heading and benching / TIg gfeT Td Sff



34) Which one of the following admixtures is used to check bleeding in concrete? /

fr=fafEa # 3 e srfifirgor &1 Iugiv Hete | wraur &) St s+ & forg i wrar 82
1. Calcium sulphate / TeRTTH Jetbe

2. Potash soap / TICTRT g

3. Red oxide / Y8 SHISS

4. Paraffin wax / ORT{th-1 A

Correct Answer :-

« Paraffin wax / ORIt A9

35) The temporary erection provided to support a number of platforms at different levels for the convenience of
workers is called .

T YA FAtor St STRTRY @1 Fiaen & ferg fafi= woxi wR e sAw w4l &) weraar weM &1 & g
ST ST R, wgarar gl

1. Lintels / feied

2. Winders / aTg@'R

3. Shoring / T

4. Scaffolding / TG

Correct Answer :-

. Scaffolding / T

36) The parts per million of oxygen in air is nearly ./
g ¥ siffivA w1 ufa it umamm__ gard)
1.209

2.20.9

3.209000

4. 20900

Correct Answer :-

» 209000

37) The estimated volume of cement required to prepare 150 Cu-m of 1:2:4 concreteis ./
1: 2: 4 HWIC P 150 Cu-m P HIR A P Y STazgs e ot AT AN gl
1.26 Cu-m
2.36 Cu-m
3.23 Cu-m

4. 33 Cu-m



Correct Answer :-

e 33 Cu-m

38) The magnitude for permeability of 'Fine Sand'is _____ k(cm/sec). /
‘ﬂﬁ?hmmﬁﬁ@ ﬁm%mmﬂ_k(cm/sec) gl
1. 10-3to 104

2. 10-"t0 1072

3. 10°to 101

4 10210 107

Correct Answer :-

10-2to 103

39) The minimum compressive strength of 53 grade cement is: /
53 Y5 We o1 gAaw TisT g = 2

1. 25 N'mm?

2. 53 N/mm?

3. 25kN/mm’

4. 33 kN/mm?

Correct Answer :-

40) The ease with which concrete can be mixed, transported and placed in position in a homogenous state is
called: /

g8 gfaen =1 seardt 8 o gR1 $ie Hf U wuar & a1y fifda fear o Jwar 8, arn-a smar s
T dl & 94T AT RUT T I IGT o HaT 8|

1. Bleeding / g
2. Segregration / YYdch U
3. Durability / RITR@

4. Workability / F&TIdTl
Correct Answer :-

- Workability / gaTefar

41) The ultimate limit state of bending failure deemed to have reached in an RC beam when the strain in concrete
at the extreme compression fiber reaches a value: /

AT er F1 e frfire We a9 rRe 911 & ugeM 2g sifimifia gt @ o9 tod v 73R BIeSR R
Hwic § Al (&) = 9 7 ugaar @:



1. 0.5082
2.0.0035
3.0.0020
4.0.1003

Correct Answer :-

« 0.0035

42) The specific gravity of sewage is ./

M fafRreea gargl
l.equalto1/1 P R

2. zero / Y

3. slightly less than 1/ 1 | ?ﬁ_STW

4. slightly greater than 1/ 1 3 @I?:T 3ferep

Correct Answer :-

« slightly greater than 1/ 1 Y S 3w

43) The type of arch generally constructed over a wooden lintel is: /
STHAR TR & RRied IR 99 311 &1 T TR A= 8:

1. Relieving arch / feefifd s

2. Semi circular arch / Y} ﬂw 3T

3. Rubble arch/ Tq@ 31T

4. Segmental arch / JHcd 3MTh

Correct Answer :-

« Relieving arch / Rt 3

44) The sheltered area of a residential building is 225 Sq-m and it includes a backyard of 3m x 5m. If the present
plinth area rate for similar building is Rs 1650/Sq-m, what is its cost (in Rs)? /

TP ATIRIT Ya= BT 14T & 225 T Hiex g 3R 399 3 Wiex x 5 Wex &1 Uwar = v 81 afe s<ht
IART & o adw 39 &awa (@iy T @Y & 39 1650/ Hiew 8 O 3T A Fud §) T 82

1. 346500
2.371250
3. 354750
4.363000

Correct Answer :-

* 346500



The slope of the line is measured with the help of: /

@1 $1 g 1 ot geTaar & Ardt o 6
1. Clinometer / fd@HIeR

2. Padometer / TSR

3. Odometer / 3TEIHIEY

4. Panometer / TATHIER

Correct Answer :-

« Clinometer / fd@HeR

46) The concept of Level of Service expressed in terms of: /

a1 F TR B SAYRON Y 1 2} & s s @:

1. Both qualitative measures and quantitative measures / JUITHh UIETOT TUT ATHS YRHTO GHT
2. Only integers / Fad EUTW

3. Only qualitative measures / Pad TUMTcHD gfRyror

4, Only quantitative measures / PHad ATEATHS TRATOT

Correct Answer :-

« Only qualitative measures / FHad UMTHD e

47) The process of adjusting the moisture content of wood to make it more suitable for use as timber is called
.

aﬁﬁm%w@ﬁmmaﬂﬁ%mmmﬂmﬁmﬁﬁmw&maﬁ
PEIAEI gl

1. Curing/ PrIRSE]
2. Polishing / TTeT=T UG fd
3. Seasoning/tlﬁ'qﬁ

4. Renovate / YT9&R

Correct Answer :-

« Seasoning / gRue

48) The capability of telescope to produce sharp images is known as its: /

Wy Bt FISUEA P P R R A emar P sudl | FEIATETIAECIRI
1. Sensitivity / ﬁﬂT%ﬂT @ﬂﬁﬁﬁ)

2. Magnifying Power / 3{Td e wfaa
3. Resolving power / [aHTS 2ifad (Rifed T UTaR)
4, Aperture / Q'q?k

Correct Answer :-



« Resolving power / TaYTS Rifed (R&TTed T UlaR)

49) The angular steps used for changing direction of stairs are called: /

i @} fazm gee & fore sxauTa @t wF arelt wivig Wieat = weardt 8
1. Radial steps / XSTd &4

2. Spandril / WfgA

3. Winders / AT$S

4. Angular steps / D10 HeTT (TR L)

Correct Answer :-

« Winders / dla e

50) The yards where trains and other loads are received, sorted out, trains formed and dispatched onwards are
known as ./

|

1. Marshalling yards / ICRIGKIE] (W'Qf%m El'l_sc)
2. Locomotive yards / EGF‘T tﬂé (?hﬁﬁﬂ%a Zﬂ‘s‘)
3. Station yards / XA Zﬂ@c

4. Goods yards / A are (Is QT\_SC)

Correct Answer :-

« Marshalling yards / ICRIRKIE] (W’Qfﬁ*m E|'|—5£)

51) The effective length of a compression member whose both ends are fixed in position onlyis ./

N WS SaUa (FHTH AwR) F yurdh s 2 o gt R e Ry (diofer) A fRRF
1. 0.8L

2. 0.65L

3.2L

4. 1L

Correct Answer :-

52) The grade of concrete used for prestressed member lies in the range of: /
W-X3S 3aua & e ygea Fwle o1 s e ot dr d fAfga &:

1. M 20 to M 30/ M 20 & M 30

2. M 30 to M 60 / M 30 ¥ M 60

3.M 70 to M 100/ M 70 ¥ M 100



4. M 100 to M 150 / M 100 & M 150

Correct Answer :-

« M 30toM 60/M 303 M 60

53) The portion of a structure between surface of ground and floor surface, immediately above the ground is
known as i

Y B TaE TUT B Bt Teg S A B TP WA BT YA S Y & S SW T g, FedAEar gl
1.plinth/m
2.porch/tn?‘f

3. mumti / H@
4. loft / A%

Correct Answer :-

« plinth / TR

54) The maximum permissible settlement as per IS-1904(1966) for an isolated foundations are : /
1S-1904(1966) ¥ 3RIR, JYF H1d (AMgHIACS BISSTH) & T Iwaad IgH=T 3aRITa+ 1 §:
1. 25mm on sandy soil and 40mm in clayey soils Gl ﬁg"r TR 25mm ﬁ?ﬁﬁm@tﬁ 40mm

2. 65mm on sandy soil and 25mm in clayey soils Gkl ﬁ@of TR 65mm ﬁ?ﬁﬁﬁl@tﬁ 25mm

3. 40mm on sandy soil and 25mm in clayey soils / et ﬁl%pf TR 40mm 3R feres=it &@Qf TR 25mm

4. 40mm on sandy soil and 65mm in clayey soils / RG] &I?[ TR 40mm 3R ﬁlﬁ&l@tﬁ 65mm

Correct Answer :-

« 40mm on sandy soil and 65mm in clayey soils / G ﬁl:fgpf TR 40mm 3R it ﬁé TR 65mm

55) The property of a structure indicating yield deformation before the fracture is called as .
it == &1 fais= & qd @t fasgor fasfua war gam urent Feamar gl

1. ductility / d=ddTl

2. discontinuity / SfRaRar

3. durability / RRRMRA@

4, malleability / RITRIT

Correct Answer :-

. ductility / =g

56) The Buston's formula for estimating water required for fire demand is .
ST g & AT STTad oA B U BT SMTH AT B & oI Txe HT 9T gl
1 7500vP

5 31824P



3, 4637VP
4 3663\P
Correct Answer :-
. 56631P

57) The fineness of cement is determined by: /

Wie ot i o1 Fre & grr Fuffa fear s :
1. Setting time test / gfer cIgH T

2. Slump cone test / TTH] P X

3. Soundness test / T3S ¢

4. Air permeability test / TR Ritfaraferd e

Correct Answer :-

+ Air permeability test / TUX wRiFfaferct e
58) A “Gate Valve” also knownasa ./
ek ok 1 o= G i o SRR K- g A |

1. Sluice valve / ¥JgH dfed

2. Reflux valve / XU died

3. Ball valve / §Tc dlcd

4. Float valve / TRIC died

Correct Answer :-

« Sluice valve / &34 dlcd

59) Temporary structure constructed in a river or lake for excluding water from a given site is termed as
.

Mﬂmsﬂaﬁﬁmwmﬁuﬁﬁmﬁ%ﬁqwﬁaﬁmﬁ%ﬁm
Hgardi gl

1. earthen dam / ﬁ@ BT IY
2. coffer dam / BIBR TTY

3. retaining wall / YR Ry
4. caisson / &I

Correct Answer :-

« coffer dam / PIHR Y

60) In a shallow waste stabilization pond, the sewage is treated by ./

TP IYa URRIY fFRAH01 drera &, WA &1 3u=R & gRT fPar Smanr g1



1. acrobic bacteria only / hadl aTﬂTrﬁ?ﬁ \_rﬁ?iTC[[

2. sedimentation / 3{dHIq
3. dual action of both aerobic bacteria and algae / a@Gﬂ?ﬁ Gﬁ?ﬂ'Ul SR CINEARIC A KARRIRE 2]
4. algae only / I Rard

Correct Answer :-

» dual action of both aerobic bacteria and algae / aTﬂ\_rﬂa)[ \_rﬁaTUl TUT RGTe G BT Glg] foba

61) In a beam cross section, when the axis of symmetry in the vertical plane does not coincide with the shear
center, the cross section experiences: /

T 19 B9 A9 §, 5d HeaitR da § TARATT T 3181 ST g P AU 781 81T §, 99 h1e A=
¥ gy A= gar e:

1. Axial pull / 3fefig =g
2. Bending / EE|

3. Twisting / ﬁ_d_"l

4. Compression / ‘v'l'cﬁ_E'Ff

Correct Answer :-

o Twisting / e

62) In a closed traverse pentagon the sum of interior angles is equalto ./

TS §¢ GhHUT (2a9) TaPIvT (A ) H STaRS SN STAT SRR gl
. 6x90°

4x90°

6x180°

0
4 =90

Correct Answer :-

6x90°

63) In a simple tension test, Hooke’s law is valid up to the ./
YRV XA S H, g ST e dugar 3|

1. Breaking point / s tI\TJ"i'E

2. Ultimate point / sifaq ﬁ’g{

3. Yield point / e Uige

4. Limit of proportionality / JHIJUId CARIEI]

Correct Answer :-

« Limit of proportionality / FHIJUTd CARIE]]



64) Chain surveying is reccommended when the area to be surveyed is: /

o9 T f5ar 9= arar Tian f1 Yo &1 g1aT 3, 99 3 9d @) Segia 3t |l @:
1. Small in extent with lot of vegetation / A% T HH qYUT SAfd gyfd are

2. Small in extent and on less undulating / &A% d H HH qUT HH SHal-—rdl

3. Small in extent and undulating / &A% H ®H qUl Sl

4. Large in extent and undulating / A% a H 3 qUT SHar-—dr

Correct Answer :-

 Small in extent and on less undulating / A% U HH qUT HH Hal-ATd

65) Principle of compass surveying is /
HUTT Ha&IuT BT Rigia &:

1. Traingulateration / EATQ'{@W

2. Trilateratio / ‘glsﬁﬁff?m“r

3. Triangulation / FAIOIHRUT @’I’Q’ﬂﬁsﬂm
4. Traversing / éa'ﬁh'[

Correct Answer :-

« Traversing / Eaﬁfrr

66) A foundation is considered to be shallow, if its depth is .

TP A9 (PISST) Y JUT AT 1T, A SHS TERE & ¢
1. greater than its width / @Tﬁ ?ﬁ?fl_sc ﬁ &r@@

2. equal to or less than its width / gﬂaﬁ ?ﬁg‘rg & SRR 1 39 HH

3. greater than 1 meter / 1 TR ¥ 31

4. less than 1 meter / 1 HIeX ¥ &Y

Correct Answer :-

« equal to or less than its width / 3P ASTS P TRTER T ITY HH

67) The consistency index of soil is defined as the ratio of: /
a1 & |fa gadbie & = & rgurd & w0 8 ufruifid fasar sirar @:
1. Subtraction of natural water content from liquid limit to the plasticity index of the soil /

%9-THT ¥ W idd oId U & A a B Jal & gacdd qadhidh o

2. Subtraction of plastic limit from natural water content to the plasticity index of soil /
WIREH-HHT T UIH{ddh o gcdh & Hadhad ol Jal & Jucadl Jabid

3. Summation of natural water content of a soil plus its plastic limit to the plasticity index of the soil /

Tl & UIHIAP ST Uch adl SHP! WRCH-HIHT & Hha BT Jal & Joucdd Fadhidh I




4. Summation of liquid limit and natural water content to the plasticity index of soil /
%9-HH1 Td UIHhddh od gch & Yohad o1 Jal & Jaeadl Jabid I
Correct Answer :-

« Subtraction of natural water content from liquid limit to the plasticity index of the soil /

%3-HHAT Y Uil STdt gceh & daba dl Jal &b gacddl abic J

68) CANCELLED

The two theodolite method of setting out a curve involves: /

T Th DI WG $ B ¢ RAaSiamse fafy & ey wnfire €:
1. Both angular and linear measurement / Hiofig SR e A9 gl
2. None of the above / 37‘|'~ef | ﬁ”iﬂ it 3%3[

3. Linear measurement only / Fad IAF AT

4. Angular measurement only / FHad HIofig A1g

Correct Answer :-

« Angular measurement only / FHad DU AY

69) CANCELLED

A factored eccentric force of 240kN is acting on a bracket connection subjected to a moment parallel to the plane
of joint. Assuming the number of bolts as 8.The shear force to be considered on each of the bolt is: /

Siise & W & JHHIAR TP ol & YR Sbe FATRM UR 240kN FT haes Ib—= g0 BT ¢ | T8
AT T % diee @1 T@ 8 7, TAS diee IR HHT 14 AT U0 g =1 gI:

1. 24kN
2. 15kN
3. 48kN
4. 30kN

Correct Answer :-

« 30kN

70) CANCELLED

For M20 Grade of concrete, modular ratio would be: /
M20 U B Hepic & fore, Aisgar srguTd fw= ghm:
1.13.23

2.15.54

3.12.89

4. 11.56

Correct Answer :-



71) CANCELLED

A radiation dose of 5000 roentgens is likely to result ./

5000 XTSI Bt Th fafdbor Grrw IfumH g1 B AHTEAT |1
1. Almost immediate incapacitation / TITHIT dcb T JHEHT

2. Change in blood colour / Ydd & 1 H gfkad=

3. fever / §UR

4, Vomiting / Rl

Correct Answer :-

« Almost immediate incapacitation / THTHIT deh1eT SEHT

72) CANCELLED

Considering 100g of cement for hydration and taking specific gravity of cement as 3.15 the absolute volume of
unhydrated cement is : /

A (@133%) & fore 100 1. e #1 2Ra W gu ik Wide &1 faflkne 1@ 3.15 A4 8T,
3TgTggcs UiHe & guf amr fAe gift:

1.315ml
2.31.8ml
3. 100ml
4, 103.15ml

Correct Answer :-

e 31.8ml

73) CANCELLED

A tile drainage system draining 12 hectares flows at a design capacity for two days, following a storm. If the system
is designed using a D.C. of 1.25 cm, how many cubic meters of water will be removed during this period? /

12 FF3R ST HA 191 TP 25d §o1 RiveH Had & q1G TP fSHI3 &HdaT R &l fel 9 warfed grar
21 afe Rea &1 1.25 A 1.3, &1 IwaivT Fa ge fewms= forar man 2, 9t 59 3raf & SR oa fvamn

Ffa® Hiex Ul gerT SIe?

, 12500m® / 12500 P1

, 3000m?® / 3000 @

3. 1250m3 / 1250 #°
4 1500m? / 1500 #r°

Correct Answer :-

3000 m? / 3000 #Hr



74) CANCELLED

Bitumen of grade 60/70 means: /

U3 60/70 faghq A5 &1 3 B:

1. Its penetration value is 60 mm to 70 mm / SB[ YT A 60 T T 70 Tt %I

2. Its penetration value is 60 cm to 70 cm / Waﬂ:{ A 60 9 T 70 9 %I

3. Its penetration value is 60 mm and softening point is 70 / SHDT Y A 60 ot qur Hgdd ﬁg 70 %I
4, Tts specific gravity is 0.6 to 0.7 / DI Ww 0.690.78I

Correct Answer :-

« Its penetration value is 60 mm to 70 mm / SYDT Y A 60 FHH T 70 o %I

75) CANCELLED

Flow of air can be considered to be incompressible within 1% error if the mach number of flow is less than

/

g F UATE B! 1% Ffe & iR JNET |1 S T € Ul ware o1 A T= AHATI
1.04

2.0.6

3.0.1

4.0.2

Correct Answer :-

76) CANCELLED

Reduction co- efficient of a reinforced concrete column with an effective length of 4.5m and size 200 x 250 mm is

¥

g!ﬂﬂﬂﬁﬂﬁdﬂéaﬁumx 250 Al & SMTPR & 1Y U Yaferd Heble W™ B US@ U
[

1.0.78
2.0.68
3.0.70
4. 0.60

Correct Answer :-

« 0.78

77) CANCELLED

A stilling well is required when the stage measurement is made by employing: /



331 a¥g | FRRT (Feefeim) 3 smazgear gidt 3 99 saRT A= _ & Ao g1 fhar smar 31
1. Vertical staff gauge / T T ol

2. Bubble gauge / Sl I

3. Inclined staff gauge / Td WIH 7ol

4, Float gauge recorder / W&Id T Sifera

Correct Answer :-

« Float gauge recorder / ”Id LS EIREG]

78) CANCELLED

Which of the following is a type of cleavage observed in minerals? /
frafafea # 4 fra ver @1 fagew wfrel § e o 82

1. Rectangular / 3TIdIPR

2. Streak / JURET

3. Crystal / foea

4. Basal / 3TUTR®

Correct Answer :-

« Basal / 3TYTR®

79) CANCELLED

What is the deduction made for rectangular opening having width (L), depth (H) and thickness of the wall (T)? /
IR B NSTE (L), TERME (H) TUT HISTS (T) I MAATPR gR b fore &1 fra= fora siman @2

LH*T

2L*H*T

3.L*T

4. L*H

Correct Answer :-

« L*H*T

80) CANCELLED

A circular shaft is subjected to a torque of 50 kN-m. If the permissible shear stress is 40 MPa, then the maximum
permissible diameter of the shaft is .

TS AR AT, 50kN-m & <idb & g ¢ | Afe; T STV TTd 40MPa 8, ol TR BT Sfrepad
ST B

1. 18.53 mm
2. 40 mm

3.28.53 mm



4. 25 mm

Correct Answer :-

e 18.53 mm

81) CANCELLED

A cone of relative density 0.8 is to float in water with its axis vertical and vertex downwards. Find the least apex
angle of the cone for stable equilibrium. /

ATUfér® T 0.8 BT TP [P Ot | 39 a¥6 A a¥dT 2 fob THBT 318 SR B 3R a7 391 2 2 Y 8
B P & WIRA AraTeT ® 99 ¥g1 & e sreuaw =i wior gra s

1, 31°03°337
5. 31°037337
3, 41°03°337
4. 21°03°337
Correct Answer :-

31703733~

82) CANCELLED

If ‘K’ is the total distance of the level line in km, then the permissible error in the first order precise leveling is: /
f g T P A G o Rt &, Y Ue oot 9 wE AR A ergRa 3R P

1 +8vVk mm

5. T4 kmm

3. +4k mm

4. +8 kmm

Correct Answer :-

. 14 Vi mm

83) CANCELLED

If the deflection at the free end of a uniformly loaded cantilever beam of length 1m is equal to 7.5mm, then the
slope at the free end is: /

1m TSTS aTelt UM 9 A TS I T8 Hferar 9 F god SR W RAT0 7.5mm & RS 8, D TR SRR
wqurar fet gift:

1. 0.01 radians / 0.01 il%qq
2. 0.015 radians / 0.015 i EEH
3. 0.02 radians / 0.02 AfSTT

4. 0.03 radians / 0.03 ST

Correct Answer :-



« 0.01 radians / 0.01 ST

84) CANCELLED

If the deflection at the free end of a uniformly loaded cantilever beam is 15 mm and the slope of the deflection
curve at the free end is 0.02 radian, the length of the beam is: /

UM U A TS DI T8 Horay 91 & god SR TR fA&U0r 15 mm § 3R God SR W fa&uvr a6 o1 yqomar
0.02 ¥f&T 8, A fiw F darg A= gnft:

1.1.6 m
2.1.0m
3.50m

4.2.0m

Correct Answer :-

e 1.0m

85) CANCELLED

The point just vertically below the observer’s position, in celestial sphere is called .
THTRI el | Ugrh B FRUfd & St daaa - fRya fig & FHET @I g

1. celestial point / STHTRIT ﬁ‘g’

2. Nadir / TR

3. Zenith / Sy

4. Pole / §d

Correct Answer :-

o Nadir /¥ EQ

86) CANCELLED

The graphical method for the determination of earth pressure is: /
yY-gara & Frufvor & fRre smadig fafyr 2:

1. Rebhann’s method / YT fafdr

2. Taylor’s method / oo fafdr

3. Mohr’s diagram method / Jﬂsﬁmm fafer

4. New mark’s influence chart method / QWW T1c fafd

Correct Answer :-

« Rebhann’s method / YHT fafer

87) CANCELLED

The discharge per unit drawdown at the well is known as ./



FIR U THR SAAaaT pIfalg_ FFUHR AT |
1. Specific retention / fafRry ufaemor

2. Specific yield / fafRry Ius

3. Specific storage / ﬁﬁ'l'g YERU

4, Specific gravity / WW

Correct Answer :-

« Specific storage / fafRry vsrur

85) CANCELLED

The method of exploration was developed in connection with prospecting useful minerals and oils. /
39T Ht faftr wvnfaa S @fell o ael & day # faefa 311 A

1. Geo physical / ﬂf-ﬁﬁlﬁ'q (%Pff Wﬁ)

2. Rotary boring /‘{Uﬁaﬁﬁ'ﬂ Qe Eﬁﬁ"’b
3. Sub surface sounding / JU-TTERTS AU (J§ T IR3FIT)

4. Percussion boring / TRATS CR| (URH R @ﬁ'ﬂ)

Correct Answer :-

« Geo physical / ﬁﬂ-ﬁﬁlﬁq (%I'Ch [EAEETN)

89) CANCELLED

Optimum signal cvcle in Webster Method is given by Cg -/

Co @RT & AT arell deeeX AT & ssean Geaa asfea e &

:
C= 1.d£+_10
1. 1+7

51+5
Czl.,ﬂ—iid
2. 1+F

5145
C= 1.6d£-_|-,
4, =¥

Correct Answer :-

90) CANCELLED



A rectangular tank 1 2 m deep and 2m long is used to convev waterup a ramp inclined at an
angle of 30° to the horizontal. Calculate the inclination of the water surface to the horizontal
when the acceleration parallel to the slope on starting from the bottom is 4 m/s2. /

e 1.2 A Tl gur 2 @ & smaaer ST & 39 dfae & 30° & @er 9w
AT U 3T O U F oY & v B arar 81 &S g% aeh B a9 &
SIFId T VAT & oid i & YE Bl W Gl & FAEIEY @avol 4 mis? gl

e
”"QH R [owa
4 '
e
\If
M
=N
L S—

150°39°
139°39°
1328390

4 163°39°

Correct Answer :-

163°39°

91) CANCELLED

If a star whose declination is 60 N culminates at zenith its altitude at the lower culmination is
g

I U FEaRT ST g 60°N wR# HIAT 0T ggaar § o, e Yy 9w gaer
SooAarer 2l

10°

4.

92) CANCELLED



Ratio of width of the car parking area required at kerb for 307 parking relative to 60° parking

approximately ¥

300 aTfheT & ATHRT 600 Wifdher & T P W 3Mads &R Tifdar &t & =iss &
Helaid eI B

1.0.8

2.0.7

3.2.0

4.0.5

Correct Answer :-

« 20

93) CANCELLED

A unit volume of a mass saturated soil is subjected to horizontal seepage. The saturated unit
weight is 22 kN/m? and the hydraulic gradient is 0.3 the resultant body force on the soil mass

is %)

A e A T 3HS AT AT gwanr F Gt gt §1 g s AR

22 el =ea/HR gur S gavEr 03 §, a1 #aT aeuAe W aRenHr s aw
B

1. 6.6 kN

2.22.97kN

3. 1.98 kN

4.11.49 kN

Correct Answer :-

« 11.49kN

94) Which of the following instrument is used for measuring the amount of humidity in the atmosphere? /

IIgiSd N SATsar &1 A B AT9A F e Fafafaa & @ S a1 Susor SuahT fBar S 82
1. Hyetometer/EEaTﬁET
2. Anemometer/Q"Elj:h';ﬁ?&y

3. Hydrometer / B'I—s'@jﬁa
4, Hygrometer / © 3‘5] iR

Correct Answer :-

« Hygrometer /@ 3‘5] Hiex



Which portions of the loaded beam shown in the given figure is subjected to pure bending? /

feame arv o & #1Ra oRa & &ia & B 4€ 99 & 31l B2

1. AB
2.DE
3. AE
4.BD

Correct Answer :-

- BD

96) The theodolite whose line of sight can be reversed by revolving the telescope throngh 1807 in the

vertical plane is called a it
ag REase fSadr efteyar geacelt & FwaerR gadd d 180° W gaAT &
Sehiad $T &1 T &, HEI B

1. plain theodolite / o Rareiase

2. transit theodolite / THHUT m@ﬁw

3. Y-theodolite / Y-RTISIeIge

4. non-transit theodolite / 3IHHHUT fﬁ'&n@?ﬂﬁf

Correct Answer :-

« transit theodolite / TehHUT M?ﬁ?ns‘c'

97) The most common constituents of alkalinity in natural water are measured by titrating the water
sample with 0.02 N H2SO4using if)
Hichideh el H &TRIGAT & Ted A = 0.02 N HaSOs & AT ool & AHA ol

% 39U § TSE wG AT AT B
1. Phenolphthalein and methyl orange indicators / PR 3R uEa 3RS Jdhd®
2. Ferrion and phenolphthanlein indicators / BHRTA 3R WiHTquafer ddhde
3. Methyl orange and erichrome black T indicators / ﬁrzﬂsa 3RS 3R Qﬂ_gﬁq b <t Gbdd
4. Erichrome black T and Ferrion indicators / W &I <t 3R BT bdd

Correct Answer :-

« Phenolphthalein and methyl orange indicators / BIHTTRIfeT 3R ﬁf?ﬂ_&'a 3o Hhddh



Aloaded beam is shownin the given figure. The bending moment diagram of the beam is best
represented as: /

fgu are o A ver sd oRa G@s a5 81 =Ra &1 dhat 30T 3R AraAfef@a
T Y 5T voR & G99 3@ oRKe Iged &idT b

w w w
l e

- —j—————— 2| ————plag—— | ——=

4. ._"'-....- - = ----"-._‘_

Correct Answer :-

29) 1, a proctor test, 1.8 kg of moist soil was filled in the mould (volume = 944cc) after compaction.
A soil sample weighing 23g was taken from the mould and oven dried for 24 hours at a
temperature of 110°C. The weight of the drv sample was found to be 20g. Specific gravity of soil
solidsis G=2.7. The theoretical maximum walue of the drv unit weight of the soil at that water
content is equal to__
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Correct Answer :-

16 26 kN/m?

100) Find the minimum diameter of steel wire, which is used to raise a load of 2000N if the stress in
therod does not exceed 95MN/m?. /
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1. 6.55 mm

2. 7.32 mm

3.5.17 mm

4. 8.42 mm

Correct Answer :-

e 5.17 mm



